& #4 R E - 1

R & RSB 5 E B2

NO 1 4 il 4 R
1 FHOXKDATIZHODERR TH 5,
LXDRKEZZBRDIE N, B
C
55 ° ' X(
T D A

2 F DX TAPIZHODER TH 5,
LXDRKEZZBRDIE N,

3 F DX TAP, BPIZHODOREMR TH 5,
LXDRKEZZBRDIE N,

4 FHODKT, PQILAPBD " ENSHTHSD,
LXDRKEZZBRDIE N, Q
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EHEOME/AROT  ZBDC = 90 °

/ ADC 180 - ( 55 4+ 90) = 35 °
e ERL LD /ADC = /CBD = 35°
/x 5 — 35 = 20°

2 / ABC 180 — ( 63 + 90) = 27 °
e ERL LD /ABC = /CAP = 27 °
/x 63 — 27 = 36°

3 e ERL LD /PAB = /PBA = 48 °

4 ZBAR = 90 °

PR ER LY ZABR= ZPAR J Q

ZQBP + ZQPB = ZAQS

ZAPS + ZPAR = ZASQ p a , > . B
LoT ZAQS = ZASQ \

/X 90 =~ 2 = 45°
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